W 4% FH %7 2 = B3t A
+ |4 HEIHN 2 H R = = 202143590042
KW FLYEEL
o % Atk 2102 BF 8 F#Um N
3 Bedhe BB K
BNV it H Me T &AL FLIM AT I 5 Rkt
75 PPy I H 24y (100 434D W EA3 5
1 WFEE 1S5 (30%) 85 25.5
2 BR T ESS (30%) 85 25.5
3 BRI 445 (40%) 85 34
BA55r
(PAEZT9R43 100 H T = — UK T 60 43, MAZTIATHy, HESE 85
PEEEIN “AEH” )

é/\ _l/slzfék Z :

Oft75 (90~100 43)

ARHL (80~89

5

O (70~79 7))

7]

O&H (60~69 71)

OAEH (60 4

LR

%iﬂ}ﬁv

FH#A: 2024 45 H 19 H

FIBA: 2024 465 H 19 H




i LA R A ESTRY AN i S ol o A A D O e

1 A 2SR IR =4 578 A5
S|4 =X 7Kl PSR 5 N = =1 202143590010
HE 2% A 2102 RS #UT N =
BN EE ANRFREZ RGBT ERIT TR
s PE4> I H 24 (100 438D rEB 4
1 IFEEASRS (30%) 84 25
2 BRERFESS (30%) 84 25
3 B B4 (40%) 85 34
ey
(PLE=T0F45 00 H MEE —TET 60 4+, MZTA4y, B4 84
YEEZED N “ANEHK
ZETEFEREY: O (90~100 43)
AR (80~89 4)
O g (70~79 43)
&/ (60~69 43)
OAREH (60 4L TF)
F A BN F :é&%‘*ﬁ%%ﬁy f,,n\
£ i YD
%Y’ 2 7% Bn® L\
(&= Y. ¥)

HH: 2024 5 H 19 H

HE: 2024 465 A 19 H




R mzhmER 2Bl R 1T KGR ITE &

ié5 % o A % = Bt 24 2R Bt

* NI R 2R = = 202143590039

HE % e 2101 BF 8 SHUm D& AR

EeNb et HAHRIEE B 4tk 7%

e P T H 24y (100 43D eSS
1 A REFEZS 7 (30%) 80 24
2 R FES S (30%) 80 24
3 Bt EAF5 (40%) 72 28. 8

BT
(PAE=T09F4 10 H TR — KT 60 43, MZIANHsy, B SEA 76. 8
PEEESN “AEH)
A VRSN O 75 (90~100 43)

ORI (80~89 73)
A& (70~79 7))
O&# (60~69 43)
OARE# (60 4 LLR)

Y SO
B %,

H - 2024 £ 5 H 19 H
F#H: 2024 465 H 19 H




